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01 22t 22X 54,790 0 54,790
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= 4,000
< 1,200
Al 2,800
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CEH SR (BH) - NBAY - B2 o A o SSa H RS2
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01 = bl 6,000 6,000 0
OR&J| Hig el vX-10& 80,000& *40JH 3,200
OR&I| Higel TM-2270& 70,000& =404 2,800
et A2 6,900 12,400 A5,500
10 HALAIHI B AZ 2,400 2,400 0
ONEXNR LRSI SR UE B4
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Odt2 4l MR B4 1,000,000& *x221 2,000
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OO0 el Lk 13 D1 (90ha) 1,572,000& » 14 1,572
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= 44,252
< 10,620
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01 SLHOIYI 3,600 3,600 0
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OHNE22F 0L M MOoIL &4 255,000& =12l 255
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& 31
Al 71
ONESILIN BEEHH 100, 000& *1Q! 100
= 60
= 12
Al 28
TH ol O 2+ AF 30,000 30,000 0
Mol 2135 M A 30,000 30,000 0
401 Al HIZL 201 Y| 30,000 30,000 0
01 Al&H| 30,000 30,000 0
OMAE ==HH MY 30,000,000 x1A! 30,000
HAE2H A 82,422 85,979 N 3,557
= 1,040
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Al 80,914
ol Y| (A2 ) 45,810 46,205 A\ 395
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olaa 2| (A2 1) 43,210 43,605 A 395
101 Q124 H] 43,210 43,605 A 395
01 2 38,142 38,775 A B33
OAZt224% 8,476% x 1521 %300 A| 2+ 38,142
02 JIEtE 2 2= 5,068 4,830 238
OAZ2tZ224+% 8,446 x2021x300A| 2+ 5,068
ol 29| (EX) 2,600 2,600 0
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201 LB-2d| 21,612 24,774 A3,162
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O1 g2t 13,638
>RA2IH 13,638,000& 14! 13,638
O5 2l 4,284
DOt 5L2R 7,000 «17¢1 %32 «12& 4,284
02 =224l 3,690 3,690 0
O1 83322 ¥ HA 3,690
DRERS 1,750 x 1504 128 3,150
DREEERSF 1,500& 304 128 540
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